Act #59

Perform the indicated operation.

Composition of Functions

) f(x)=4x+5
Find £(/(=1))

3) g(n) =n+1
f(n) =n’-n
Find g(j(8))

S) gln)=4n->5
h(n) = 2n + 1
Find g(/z(S))

7y ha) = 24> + 3a

g(a) =a-3
Find lz(g(—l))

9) g(\) =x—-3
./'(,\‘) =—2% 4.2
Find q(/(\))

") gln) =4n
I (n) = 4n+2
Find g( i (n))

2) f(x)=x+5
g(\) =-x2-5x
Find f(g(—4))

4) g(x) = 20X
Find g(g(~3))

6) f(n) =n*+3n
g(n) =-n-3
Find /(g(3))

8) h(x)=-3x+1
g(x) =4x+3

Find h(g(x))

10) f(a)=2a+5
g(a) =q* -4
Find /(g(a))

I (x) =3x+
i

Find g( /(x))



